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1

덧셈을 하시오. 

1 ＋ 2 ＋ 1 ＝ 1 ＋ 2 ＋ 2 ＝

1

＋ 2 ＋ 1

1

＋ 2 ＋ 2

 

1 ＋ 3 ＋ 1 ＝ 1 ＋ 3 ＋ 2 ＝

1

＋ 3 ＋ 1

1

＋ 3 ＋ 2

 

1 ＋ 3 ＋ 3 ＝ 1 ＋ 2 ＋ 4 ＝

1

＋ 3 ＋ 3

1

＋ 2 ＋ 4

 

1 ＋ 2 ＋ 3 ＝ 1 ＋ 4 ＋ 1 ＝

1

＋ 2 ＋ 3

1

＋ 4 ＋ 1

 

1 ＋ 4 ＋ 2 ＝ 1 ＋ 4 ＋ 3 ＝

1

＋ 4 ＋ 2

1

＋ 4 ＋ 3

세 수의 덧셈

2 권

한 자리 수의 

덧셈과 뺄셈 2



2

덧셈을 하시오.

1 ＋ 4 ＋ 4 ＝ 2 ＋ 1 ＋ 1 ＝

1

＋ 4 ＋ 4

2

＋ 1 ＋ 1

 

2 ＋ 1 ＋ 2 ＝ 2 ＋ 1 ＋ 3 ＝

2

＋ 1 ＋ 2

2

＋ 1 ＋ 3

 

2 ＋ 1 ＋ 4 ＝ 2 ＋ 2 ＋ 1 ＝

2

＋ 1 ＋ 4

2

＋ 2 ＋ 1

 

2 ＋ 2 ＋ 3 ＝ 2 ＋ 3 ＋ 1 ＝

2

＋ 2 ＋ 3

2

＋ 3 ＋ 1

 

2 ＋ 4 ＋ 1 ＝ 2 ＋ 4 ＋ 3 ＝

2

＋ 4 ＋ 1

2

＋ 4 ＋ 3



3

덧셈을 하시오.

2 ＋ 5 ＋ 1 ＝ 2 ＋ 5 ＋ 2 ＝

2

＋ 5 ＋ 1

2

＋ 5 ＋ 2

 

3 ＋ 1 ＋ 1 ＝ 3 ＋ 1 ＋ 3 ＝

3

＋ 1 ＋ 1

3

＋ 1 ＋ 3

 

3 ＋ 1 ＋ 4 ＝ 3 ＋ 2 ＋ 1 ＝

3

＋ 1 ＋ 4

3

＋ 2 ＋ 1

 

3 ＋ 2 ＋ 3 ＝ 4 ＋ 1 ＋ 1 ＝

3

＋ 2 ＋ 3

4

＋ 1 ＋ 1

 

4 ＋ 2 ＋ 3 ＝ 5 ＋ 1 ＋ 2 ＝

4

＋ 2 ＋ 3

5

＋ 1 ＋ 2



4

덧셈을 하시오.

3 ＋ 1 ＋ 1 ＝ 3 ＋ 2 ＋ 2 ＝

 

2 ＋ 1 ＋ 5 ＝ 2 ＋ 2 ＋ 3 ＝

 

3 ＋ 2 ＋ 2 ＝ 3 ＋ 1 ＋ 3 ＝

 

3 ＋ 2 ＋ 2 ＝ 4 ＋ 1 ＋ 1 ＝

 

4 ＋ 2 ＋ 1 ＝ 5 ＋ 2 ＋ 1 ＝



5

뺄셈을 하시오. 

7 － 2 － 1 ＝ 6 － 2 － 2 ＝

7

－ 2 － 1

6

－ 2 － 2

 

8 － 3 － 1 ＝ 9 － 3 － 2 ＝

8

－ 3 － 1

9

－ 3 － 2

 

6 － 3 － 2 ＝ 7 － 4 － 1 ＝

6

－ 3 － 2

7

－ 4 － 1

 

8 － 3 － 2 ＝ 9 － 4 － 3 ＝

8

－ 3 － 2

9

－ 4 － 3

 

8 － 4 － 2 ＝ 9 － 3 － 2 ＝

8

－ 4 － 2

9

－ 3 － 2

세 수의 뺄셈 (1)

2 권

한 자리 수의 

덧셈과 뺄셈 2



6

뺄셈을 하시오.

6 － 2 － 3 ＝ 7 － 1 － 3 ＝

6

－ 2 － 3

7

－ 1 － 3

 

8 － 2 － 4 ＝ 9 － 2 － 5 ＝

8

－ 2 － 4

9

－ 2 － 5

 

6 － 1 － 4 ＝ 7 － 2 － 4 ＝

6

－ 1 － 4

7

－ 2 － 4

 

8 － 3 － 4 ＝ 9 － 2 － 4 ＝

8

－ 3 － 4

9

－ 2 － 4

 

8 － 1 － 5 ＝ 9 － 3 － 5 ＝

8

－ 1 － 5

9

－ 3 － 5



7

뺄셈을 하시오.

6 － 1 － 2 ＝ 7 － 2 － 2 ＝

6

－ 1 － 2

7

－ 2 － 2

 

8 － 2 － 5 ＝ 9 － 1 － 4 ＝

8

－ 2 － 5

9

－ 1 － 4

 

6 － 1 － 2 ＝ 7 － 3 － 3 ＝

6

－ 1 － 2

7

－ 3 － 3

 

8 － 4 － 3 ＝ 9 － 4 － 3 ＝

8

－ 4 － 3

9

－ 4 － 3

 

8 － 1 － 4 ＝ 9 － 5 － 2 ＝

8

－ 1 － 4

9

－ 5 － 2



8

뺄셈을 하시오.

5 － 2 － 1 ＝ 6 － 2 － 2 ＝

 

7 － 3 － 1 ＝ 8 － 3 － 2 ＝

 

9 － 5 － 2 ＝ 6 － 2 － 3 ＝

 

7 － 2 － 4 ＝ 8 － 1 － 4 ＝

 

9 － 2 － 5 ＝ 9 － 3 － 5 ＝



9

계산을 하시오. 

3 ＋ 2 － 1 ＝ 4 ＋ 3 － 2 ＝

3

＋ 2 － 1

4

＋ 3 － 2

 

4 ＋ 3 － 1 ＝ 5 ＋ 3 － 2 ＝

4

＋ 3 － 1

5

＋ 3 － 2

 

5 ＋ 4 － 2 ＝ 6 ＋ 3 － 2 ＝

4

＋ 3 － 2

6

＋ 3 － 2

 

7 ＋ 2 － 1 ＝ 8 ＋ 1 － 2 ＝

7

＋ 2 － 1

8

＋ 1 － 2

 

4 ＋ 3 － 2 ＝ 5 ＋ 4 － 2 ＝

4

＋ 3 － 2

5

＋ 4 － 2

세 수의 뺄셈 (2)

2 권

한 자리 수의 

덧셈과 뺄셈 2



10

계산을 하시오.

5 ＋ 2 － 3 ＝ 4 ＋ 1 － 3 ＝

5

＋ 2 － 3

4

＋ 1 － 3

 

4 ＋ 2 － 4 ＝ 5 ＋ 3 － 4 ＝

4

＋ 2 － 4

5

＋ 3 － 4

 

5 ＋ 2 － 4 ＝ 6 ＋ 3 － 5 ＝

5

＋ 2 － 4

6

＋ 3 － 5

 

7 ＋ 1 － 3 ＝ 8 ＋ 1 － 5 ＝

7

＋ 1 － 3

8

＋ 1 － 5

 

4 ＋ 3 － 5 ＝ 5 ＋ 4 － 6 ＝

4

＋ 3 － 5

5

＋ 4 － 6



11

계산을 하시오.

1 ＋ 8 － 4 ＝ 2 ＋ 5 － 3 ＝

1

＋ 8 － 4

2

＋ 5 － 3

 

2 ＋ 6 － 3 ＝ 3 ＋ 6 － 4 ＝

2

＋ 6 － 3

3

＋ 6 － 4

 

2 ＋ 7 － 6 ＝ 3 ＋ 5 － 4 ＝

2

＋ 7 － 6

3

＋ 5 － 4

 

1 ＋ 8 － 5 ＝ 3 ＋ 5 － 2 ＝

1

＋ 8 － 5

3

＋ 5 － 2

 

2 ＋ 5 － 3 ＝ 4 ＋ 3 － 3 ＝

2

＋ 5 － 3

4

＋ 3 － 3



12

계산을 하시오.

3 ＋ 2 － 1 ＝ 4 ＋ 2 － 3 ＝

 

5 ＋ 2 － 4 ＝ 6 ＋ 3 － 5 ＝

 

2 ＋ 5 － 4 ＝ 3 ＋ 6 － 7 ＝

 

3 ＋ 5 － 4 ＝ 4 ＋ 4 － 3 ＝

 

6 ＋ 1 － 4 ＝ 2 ＋ 6 － 4 ＝



13

계산을 하시오. 

3 － 2 ＋ 1 ＝ 4 － 3 ＋ 1 ＝

3

－ 2 ＋ 1

4

－ 3 ＋ 1

 

4 － 3 ＋ 2 ＝ 5 － 3 ＋ 2 ＝

4

－ 3 ＋ 2

5

－ 3 ＋ 2

 

5 － 3 ＋ 2 ＝ 6 － 4 ＋ 2 ＝

5

－ 3 ＋ 2

6

－ 4 ＋ 2

 

7 － 3 ＋ 1 ＝ 8 － 5 ＋ 4 ＝

7

－ 3 ＋ 1

8

－ 5 ＋ 4

 

9 － 6 ＋ 3 ＝ 9 － 5 ＋ 2 ＝

9

－ 6 ＋ 3

9

－ 5 ＋ 2

세 수의 뺄셈 (3)

2 권

한 자리 수의 

덧셈과 뺄셈 2



14

계산을 하시오.

3 － 1 ＋ 4 ＝ 4 － 2 ＋ 4 ＝

3

－ 1 ＋ 4

4

－ 2 ＋ 4

 

4 － 3 ＋ 5 ＝ 5 － 2 ＋ 6 ＝

4

－ 3 ＋ 5

5

－ 2 ＋ 6

 

5 － 2 ＋ 4 ＝ 6 － 2 ＋ 5 ＝

5

－ 2 ＋ 4

6

－ 2 ＋ 5

 

7 － 1 ＋ 3 ＝ 8 － 3 ＋ 5 ＝

7

－ 1 ＋ 3

8

－ 3 ＋ 5

 

9 － 2 ＋ 4 ＝ 9 － 1 ＋ 5 ＝

9

－ 2 ＋ 4

9

－ 1 ＋ 5



15

계산을 하시오.

6 － 2 ＋ 2 ＝ 7 － 2 ＋ 4 ＝

6

－ 2 ＋ 2

7

－ 2 ＋ 4

 

6 － 4 ＋ 3 ＝ 7 － 6 ＋ 5 ＝

6

－ 4 ＋ 3

7

－ 6 ＋ 5

 

8 － 5 ＋ 6 ＝ 8 － 4 ＋ 5 ＝

8

－ 5 ＋ 6

8

－ 4 ＋ 5

 

9 － 7 ＋ 5 ＝ 9 － 5 ＋ 5 ＝

9

－ 7 ＋ 5

9

－ 5 ＋ 5

 

7 － 6 ＋ 8 ＝ 8 － 5 ＋ 4 ＝

7

－ 6 ＋ 8

8

－ 5 ＋ 4



16

계산을 하시오.

3 － 2 ＋ 4 ＝ 4 － 2 ＋ 5 ＝

 

5 － 2 ＋ 4 ＝ 6 － 3 ＋ 5 ＝

 

4 － 2 ＋ 4 ＝ 6 － 3 ＋ 5 ＝

 

7 － 5 ＋ 4 ＝ 7 － 4 ＋ 5 ＝

 

8 － 6 ＋ 4 ＝ 9 － 5 ＋ 2 ＝



17

안에 알맞은 수를 써넣으시오. 

1 ＋ ＝ 10 3 ＋ ＝ 10

 

2 ＋ ＝ 10 5 ＋ ＝ 10

 

4 ＋ ＝ 10 6 ＋ ＝ 10

 

8 ＋ ＝ 10 0 ＋ ＝ 10

 

9 ＋ ＝ 10 7 ＋ ＝ 10

10이 되는 더하기, 

10에서 빼기

2 권

한 자리 수의 

덧셈과 뺄셈 2



18

안에 알맞은 수를 써넣으시오.

＋ 9 ＝ 10 ＋ 7 ＝ 10

 

＋ 6 ＝ 10 ＋ 5 ＝ 10

 

＋ 8 ＝ 10 ＋ 2 ＝ 10

 

＋ 3 ＝ 10 ＋ 4 ＝ 10

 

＋ 10 ＝ 10 ＋ 1 ＝ 10



19

안에 알맞은 수를 써넣으시오.

10 － 3 ＝ 10 － 5 ＝

 

10 － 6 ＝ 10 － 2 ＝

 

10 － 1 ＝ 10 － 4 ＝

 

10 － 7 ＝ 10 － 9 ＝

 

10 － 8 ＝



20

안에 알맞은 수를 써넣으시오.

2 ＋ ＝ 10 5 ＋ ＝ 10

 

4 ＋ ＝ 10 7 ＋ ＝ 10

 

＋ 5 ＝ 10 ＋ 3 ＝ 10

 

＋ 1 ＝ 10 ＋ 6 ＝ 10

 

10 － 3 ＝ 10 － 7 ＝



21

덧셈을 하시오. 

2 ＋ 8 ＋ 4 ＝ 3 ＋ 7 ＋ 5 ＝

 

4 ＋ 6 ＋ 3 ＝ 6 ＋ 4 ＋ 5 ＝

 

1 ＋ 9 ＋ 5 ＝ 7 ＋ 3 ＋ 5 ＝

 

5 ＋ 5 ＋ 2 ＝ 8 ＋ 2 ＋ 5 ＝

 

9 ＋ 1 ＋ 6 ＝ 4 ＋ 6 ＋ 2 ＝

세 수의 덧셈 (1)

2 권

한 자리 수의 

덧셈과 뺄셈 2



22

덧셈을 하시오.

8 ＋ 2 ＋ 3 ＝ 6 ＋ 4 ＋ 9 ＝

 

4 ＋ 6 ＋ 8 ＝ 2 ＋ 8 ＋ 1 ＝

 

9 ＋ 1 ＋ 2 ＝ 7 ＋ 3 ＋ 5 ＝

 

5 ＋ 5 ＋ 2 ＝ 3 ＋ 7 ＋ 4 ＝

 

1 ＋ 9 ＋ 5 ＝ 6 ＋ 4 ＋ 8 ＝



23

덧셈을 하시오.

4 ＋ 6 ＋ 2 ＝ 8 ＋ 2 ＋ 5 ＝

 

2 ＋ 8 ＋ 4 ＝ 6 ＋ 4 ＋ 5 ＝

 

3 ＋ 7 ＋ 5 ＝ 9 ＋ 1 ＋ 4 ＝

 

7 ＋ 3 ＋ 1 ＝ 5 ＋ 5 ＋ 2 ＝

 

1 ＋ 9 ＋ 6 ＝ 3 ＋ 7 ＋ 8 ＝



24

덧셈을 하시오.

3 ＋ 7 ＋ 5 ＝ 7 ＋ 3 ＋ 2 ＝

 

1 ＋ 9 ＋ 4 ＝ 5 ＋ 5 ＋ 7 ＝

 

8 ＋ 2 ＋ 5 ＝ 2 ＋ 8 ＋ 7 ＝

 

6 ＋ 4 ＋ 2 ＝ 4 ＋ 6 ＋ 5 ＝

 

9 ＋ 1 ＋ 2 ＝ 7 ＋ 3 ＋ 5 ＝



25

덧셈을 하시오. 

4 ＋ 8 ＋ 2 ＝ 5 ＋ 7 ＋ 3 ＝

 

3 ＋ 6 ＋ 4 ＝ 5 ＋ 4 ＋ 6 ＝

 

5 ＋ 9 ＋ 1 ＝ 5 ＋ 3 ＋ 7 ＝

 

2 ＋ 5 ＋ 5 ＝ 5 ＋ 2 ＋ 8 ＝

 

6 ＋ 1 ＋ 9 ＝ 2 ＋ 6 ＋ 4 ＝

세 수의 덧셈 (2)

2 권

한 자리 수의 

덧셈과 뺄셈 2



26

덧셈을 하시오.

3 ＋ 2 ＋ 8 ＝ 9 ＋ 4 ＋ 6 ＝

 

8 ＋ 6 ＋ 4 ＝ 1 ＋ 8 ＋ 2 ＝

 

2 ＋ 1 ＋ 9 ＝ 5 ＋ 3 ＋ 7 ＝

 

2 ＋ 5 ＋ 5 ＝ 4 ＋ 7 ＋ 3 ＝

 

5 ＋ 9 ＋ 1 ＝ 8 ＋ 4 ＋ 6 ＝



27

덧셈을 하시오.

2 ＋ 6 ＋ 4 ＝ 5 ＋ 2 ＋ 8 ＝

 

4 ＋ 8 ＋ 2 ＝ 5 ＋ 4 ＋ 6 ＝

 

5 ＋ 7 ＋ 3 ＝ 4 ＋ 1 ＋ 9 ＝

 

1 ＋ 3 ＋ 7 ＝ 2 ＋ 5 ＋ 5 ＝

 

6 ＋ 9 ＋ 1 ＝ 8 ＋ 7 ＋ 3 ＝



28

덧셈을 하시오.

5 ＋ 7 ＋ 3 ＝ 2 ＋ 3 ＋ 7 ＝

 

4 ＋ 9 ＋ 1 ＝ 7 ＋ 5 ＋ 5 ＝

 

5 ＋ 2 ＋ 8 ＝ 7 ＋ 8 ＋ 2 ＝

 

2 ＋ 4 ＋ 6 ＝ 5 ＋ 6 ＋ 4 ＝

 

2 ＋ 1 ＋ 9 ＝ 5 ＋ 3 ＋ 7 ＝



29

덧셈을 하시오. 

8 ＋ 4 ＋ 2 ＝ 3 ＋ 5 ＋ 7 ＝

 

4 ＋ 3 ＋ 6 ＝ 6 ＋ 5 ＋ 4 ＝

 

1 ＋ 5 ＋ 9 ＝ 7 ＋ 5 ＋ 3 ＝

 

5 ＋ 2 ＋ 5 ＝ 8 ＋ 5 ＋ 2 ＝

 

9 ＋ 6 ＋ 1 ＝ 4 ＋ 2 ＋ 6 ＝

세 수의 덧셈 (3)

2 권

한 자리 수의 

덧셈과 뺄셈 2



30

덧셈을 하시오.

8 ＋ 3 ＋ 2 ＝ 6 ＋ 9 ＋ 4 ＝

 

4 ＋ 8 ＋ 6 ＝ 2 ＋ 1 ＋ 8 ＝

 

9 ＋ 2 ＋ 1 ＝ 7 ＋ 5 ＋ 3 ＝

 

5 ＋ 2 ＋ 5 ＝ 3 ＋ 4 ＋ 7 ＝

 

1 ＋ 5 ＋ 9 ＝ 6 ＋ 8 ＋ 4 ＝



31

덧셈을 하시오.

4 ＋ 2 ＋ 6 ＝ 8 ＋ 5 ＋ 2 ＝

 

2 ＋ 4 ＋ 8 ＝ 6 ＋ 5 ＋ 4 ＝

 

3 ＋ 5 ＋ 7 ＝ 9 ＋ 4 ＋ 1 ＝

 

7 ＋ 1 ＋ 3 ＝ 5 ＋ 2 ＋ 5 ＝

 

1 ＋ 6 ＋ 9 ＝ 3 ＋ 8 ＋ 7 ＝



32

덧셈을 하시오.

3 ＋ 5 ＋ 7 ＝ 7 ＋ 2 ＋ 3 ＝

 

1 ＋ 4 ＋ 9 ＝ 5 ＋ 7 ＋ 5 ＝

 

8 ＋ 5 ＋ 2 ＝ 2 ＋ 7 ＋ 8 ＝

 

6 ＋ 2 ＋ 4 ＝ 4 ＋ 5 ＋ 6 ＝

 

9 ＋ 2 ＋ 1 ＝ 7 ＋ 5 ＋ 3 ＝



33

덧셈을 하시오. 

7

＋ 5

8

＋ 4

6

＋ 5

9

＋ 2

8

＋ 5

9

＋ 3

7

＋ 4

6

＋ 6

7

＋ 6

8

＋ 3

받아올림이 있는 

한 자리 수의 덧셈

2 권

한 자리 수의 

덧셈과 뺄셈 2



34

덧셈을 하시오.

7

＋ 7

8

＋ 6

6

＋ 4

9

＋ 4

8

＋ 7

9

＋ 5

7

＋ 5

8

＋ 8

9

＋ 6

9

＋ 5



35

덧셈을 하시오.

5

＋ 7

6

＋ 9

8

＋ 9

3

＋ 8

5

＋ 7

4

＋ 9

4

＋ 8

7

＋ 8

4

＋ 7

7

＋ 9



36

덧셈을 하시오.

7 ＋ 5 ＝ 8 ＋ 6 ＝

 

9 ＋ 7 ＝ 8 ＋ 3 ＝

 

6 ＋ 5 ＝ 3 ＋ 9 ＝

 

4 ＋ 8 ＝ 6 ＋ 8 ＝

 

5 ＋ 7 ＝ 7 ＋ 8 ＝



37

뺄셈을 하시오. 

1 2

－ 5

1 3

－ 4

1 5

－ 7

1 1

－ 4

1 4

－ 8

1 6

－ 7

1 1

－ 6

1 2

－ 4

1 5

－ 8

1 3

－ 7

받아내림이 있는 

(십 몇)－(몇)

2 권

한 자리 수의 

덧셈과 뺄셈 2



38

뺄셈을 하시오.

1 2

－ 7

1 3

－ 8

1 5

－ 9

1 1

－ 9

1 4

－ 5

1 6

－ 9

1 1

－ 8

1 2

－ 6

1 5

－ 7

1 3

－ 5



39

뺄셈을 하시오.

1 4

－ 7

1 2

－ 9

1 5

－ 6

1 1

－ 3

1 6

－ 7

1 7

－ 9

1 1

－ 6

1 2

－ 5

1 3

－ 6

1 5

－ 7



40

뺄셈을 하시오.

15 － 8 ＝ 13 － 4 ＝

 

11 － 4 ＝ 16 － 9 ＝

 

18 － 9 ＝ 14 － 7 ＝

 

12 － 7 ＝ 17 － 8 ＝

 

13 － 6 ＝ 12 － 8 ＝
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연산박사 2권  정답

- 1 -

P. 1 ➊ 3, 3, 4 ➋ 3, 3, 5 ➌ 4, 4, 5

➍ 4, 4, 6 ➎ 4, 4, 7 ➏ 3, 3, 7

➐ 3, 3, 6 ➑ 5, 5, 6 ➒ 5, 5, 7

➓ 5, 5, 8  

P. 2 ➊ 5, 5, 9 ➋ 3, 3, 4 ➌ 3, 3, 5

➍ 3, 3, 6 ➎ 3, 3, 7 ➏ 4, 4, 5

➐ 4, 4, 7 ➑ 5, 5, 6 ➒ 6, 6, 7

➓ 6, 6, 9

P. 3 ➊ 7, 7, 8 ➋ 7, 7, 9 ➌ 4, 4, 5

➍ 4, 4, 7 ➎ 4, 4, 8 ➏ 5, 5, 6

➐ 5, 5, 8 ➑ 5, 5, 6 ➒ 6, 6, 9

➓ 6, 6, 8

P. 4 ➊ 5 ➋ 7 ➌ 8 ➍ 7 ➎ 7

➏ 7 ➐ 7 ➑ 6 ➒ 7 ➓ 8

P. 5 ➊ 5, 5, 4 ➋ 4, 4, 2 ➌ 5, 5, 4

➍ 6, 6, 4 ➎ 3, 3, 1 ➏ 3, 3, 2

➐ 5, 5, 3 ➑ 5, 5, 2 ➒ 4, 4, 2

➓ 6, 6, 4

P. 6 ➊ 4, 4, 1 ➋ 6, 6, 3 ➌ 6, 6, 2

➍ 7, 7, 2 ➎ 5, 5, 1 ➏ 5, 5, 1

➐ 5, 5, 1 ➑ 7, 7, 3 ➒ 7, 7, 2

➓ 6, 6, 1

P. 7 ➊ 5, 5, 3 ➋ 5, 5, 3 ➌ 6, 6, 1

➍ 8, 8, 4 ➎ 5, 5, 3 ➏ 4, 4, 1

➐ 4, 4, 1 ➑ 5, 5, 2 ➒ 7, 7, 3

➓ 4, 4, 2

P. 8 ➊ 2 ➋ 2 ➌ 3 ➍ 3 ➎ 2

➏ 1 ➐ 1 ➑ 3 ➒ 2 ➓ 1

P. 9 ➊ 5, 5, 4 ➋ 7, 7, 5 ➌ 7, 7, 6

➍ 8, 8, 6 ➎ 9, 9, 7 ➏ 9, 9, 7

➐ 9, 9, 8 ➑ 9, 9, 7 ➒ 7, 7, 5

➓ 9, 9, 7

P. 10 ➊ 7, 7, 4 ➋ 5, 5, 2 ➌ 6, 6, 2

➍ 8, 8, 4 ➎ 7, 7, 3 ➏ 9, 9, 4

➐ 8, 8, 5 ➑ 9, 9, 4 ➒ 7, 7, 2

➓ 9, 9, 3

P. 11 ➊ 9, 9, 5 ➋ 7, 7, 4 ➌ 8, 8, 5

➍ 9, 9, 5 ➎ 9, 9, 3 ➏ 8, 8, 4

➐ 9, 9, 4 ➑ 8, 8, 6 ➒ 7, 7, 4

➓ 7, 7, 4

P. 12 ➊ 4 ➋ 3 ➌ 3 ➍ 4 ➎ 3

➏ 2 ➐ 4 ➑ 5 ➒ 3 ➓ 4

P. 13 ➊ 1, 1, 2 ➋ 1, 1, 2 ➌ 1, 1, 3

➍ 2, 2, 4 ➎ 2, 2, 4 ➏ 2, 2, 4

➐ 4, 4, 5 ➑ 3, 3, 7 ➒ 3, 3, 6

➓ 4, 4, 6

P. 14 ➊ 2, 2, 6 ➋ 2, 2, 6 ➌ 1, 1, 6

➍ 3, 3, 9 ➎ 3, 3, 7 ➏ 4, 4, 9

➐ 6, 6, 9 ➑ 5, 5, 10 ➒ 7, 7, 11

➓ 8, 8, 13

P. 15 ➊ 4, 4, 6 ➋ 5, 5, 9 ➌ 2, 2, 5

➍ 1, 1, 6 ➎ 3, 3, 9 ➏ 4, 4, 9

➐ 2, 2, 7 ➑ 4, 4, 9 ➒ 1, 1, 9

➓ 3, 3, 7

P. 16 ➊ 5 ➋ 7 ➌ 7 ➍ 8 ➎ 6

➏ 8 ➐ 6 ➑ 8 ➒ 6 ➓ 6
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P. 17 ➊ 9 ➋ 7 ➌ 8 ➍ 5 ➎ 6

➏ 4 ➐ 2 ➑ 10 ➒ 1 ➓ 3

 

P. 18 ➊ 1 ➋ 3 ➌ 4 ➍ 5 ➎ 2

➏ 8 ➐ 7 ➑ 6 ➒ 0 ➓ 9

 

P. 19 ➊ 7 ➋ 5 ➌ 4 ➍ 8 ➎ 9

➏ 6 ➐ 3 ➑ 1 ➒ 2

 

P. 20 ➊ 8 ➋ 5 ➌ 6 ➍ 3 ➎ 5

➏ 7 ➐ 9 ➑ 4 ➒ 7 ➓ 3

 

P. 21 ➊ 14 ➋ 15 ➌ 13 ➍ 15 ➎ 15

➏ 15 ➐ 12 ➑ 15 ➒ 16 ➓ 12

 

P. 22 ➊ 13 ➋ 19 ➌ 18 ➍ 11 ➎ 12

➏ 15 ➐ 12 ➑ 14 ➒ 15 ➓ 18

 

P. 23 ➊ 12 ➋ 15 ➌ 14 ➍ 15 ➎ 15

➏ 14 ➐ 11 ➑ 12 ➒ 16 ➓ 18

 

P. 24 ➊ 15 ➋ 12 ➌ 14 ➍ 17 ➎ 15

➏ 17 ➐ 12 ➑ 15 ➒ 12 ➓ 15

 

P. 25 ➊ 14 ➋ 15 ➌ 13 ➍ 15 ➎ 15

➏ 15 ➐ 12 ➑ 15 ➒ 16 ➓ 12

 

P. 26 ➊ 13 ➋ 19 ➌ 18 ➍ 11 ➎ 12

➏ 15 ➐ 12 ➑ 14 ➒ 15 ➓ 18

 

P. 27 ➊ 12 ➋ 15 ➌ 14 ➍ 15 ➎ 15

➏ 14 ➐ 11 ➑ 12 ➒ 16 ➓ 18

 

P. 28 ➊ 15 ➋ 12 ➌ 14 ➍ 17 ➎ 15

➏ 17 ➐ 12 ➑ 15 ➒ 12 ➓ 15

P. 29 ➊ 14 ➋ 15 ➌ 13 ➍ 15 ➎ 15

➏ 15 ➐ 12 ➑ 15 ➒ 16 ➓ 12

 

P. 30 ➊ 13 ➋ 19 ➌ 18 ➍ 11 ➎ 12

➏ 15 ➐ 12 ➑ 14 ➒ 15 ➓ 18

 

P. 31 ➊ 12 ➋ 15 ➌ 14 ➍ 15 ➎ 15

➏ 14 ➐ 11 ➑ 12 ➒ 16 ➓ 18

 

P. 32 ➊ 15 ➋ 12 ➌ 14 ➍ 17 ➎ 15

➏ 17 ➐ 12 ➑ 15 ➒ 12 ➓ 15

 

P. 33 ➊ 12 ➋ 12 ➌ 11 ➍ 11 ➎ 13

➏ 12 ➐ 11 ➑ 12 ➒ 13 ➓ 11

 

P. 34 ➊ 14 ➋ 14 ➌ 10 ➍ 13 ➎ 15

➏ 14 ➐ 12 ➑ 16 ➒ 15 ➓ 14

 

P. 35 ➊ 12 ➋ 15 ➌ 17 ➍ 11 ➎ 12

➏ 13 ➐ 12 ➑ 15 ➒ 11 ➓ 16

 

P. 36 ➊ 12 ➋ 14 ➌ 16 ➍ 11 ➎ 11

➏ 12 ➐ 12 ➑ 14 ➒ 12 ➓ 15

 

P. 37 ➊ 7 ➋ 9 ➌ 8 ➍ 7 ➎ 6 ➏ 9

➐ 5 ➑ 8 ➒ 7 ➓ 6

 

P. 38 ➊ 5 ➋ 5 ➌ 6 ➍ 2 ➎ 9 ➏ 7

➐ 3 ➑ 6 ➒ 8 ➓ 8

 

P. 39 ➊ 7 ➋ 3 ➌ 9 ➍ 8 ➎ 9 ➏ 8

➐ 5 ➑ 7 ➒ 7 ➓ 8

P. 40 ➊ 7 ➋ 9 ➌ 7 ➍ 7 ➎ 9 ➏ 7

➐ 5 ➑ 9 ➒ 7 ➓ 4


